5l

il

M R HEHE ST

ST ISR R G AR S R L R R B B — BURAG A B B
3l T AR AN [ B8 90 M7 77 3k o 0 A 28 42 119 3 25 1 fiE R A
PERE 9 R it . 20 gt

Pk B o [F] I Ao H B35 2R 46

P S v E TR TR B 5 A AT = A RV S8R50 #7 7% (Time Domain
A TR B4 7 AT AN TR) B 4 s R 3V D AR B B R e 4 o R G B0 N SR AT

Reading Material

Analysis) R 7% 3 (Root Locus Method) F1 4 2 i) if % ( Frequency Response Method) .
the two.

Control systems are required to have satisfactory transient and steady state responses.

These are contradictory requirements, and the final design is often a compromise between

Quantitative performance measures are required to carry forward the design
process and to make comparisons between competing designs. Quantitative performance

measures of feedback control systems will enable quantification of design objectives so that
design can be carried out logically and systematically (remove fuzziness associated with
customer requirements)and enable meaningful comparisons to be made between competing
designs. The criteria for selection of performance measures include: (D) design objectives
translate into simple design rules; @ easy to analyse; @ experimentally measurable.
Design specifications for control systems normally include several time response indices for
practitioners.

a specified (test) reference input as well as a desired steady-state accuracy. This topic

introduces you to the time domain performance measures that are widely used by control

In the following activities, you will explore the relationships between the commonly
used quantitative performance measures of feedback control systems and the location of the

system transfer function poles and zeros in the s-plane. You will learn that a second order

transfer function with damping ratio £&0. 7 has the optimum transient response, while its
natural frequency w, determines the duration of the transients.

desirable to accomplish such a transfer function for feedback control systems.

It is therefore very
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R 8 70 BT 32 2 915 A I [ 38 N BF 50 28 G 7 S P iy A A5 B0 VR T JHG g 13 o )37 i B (1] 72
R BT $ERRER 1 55 rh A 4R 9 X A 34 i 2R G0 A SR AR 2R MR 6 3000 A 5 F 9 AR
GEPERE - n] LUE B4 34 A0 65 A2 7E 1 (Stability) (PR 1 (Speed) FlHE B ¥ (Accuracy) 55 45 1
PERETR bR o I Ik 23 BT 12 0 0y BERRE 2005 WA L A B A TR M R RS M S RO S T R 5
AR o3 D7 A i+ A P P Jel 23 T 32 L A5 R L DTt S A ) 2R GEF 5 T WL TR A 28K 4 7 vk
z—.

T o [ 1 0 SCHERE S BT I S AR R G A AR E S

Terms and Concepts

Time domain: the mathematical domain that incorporates the time response and the
description of a system in terms of time.

Time-varying system: a system for which one or more parameters may vary with time.
1. BEMEANES

WX RGBSR LR R REEMA G SEH T 2 86 2 2 i A =1
AR AR AR AR A 5 B 2R G % i A el 7= A i . 4 R G0 A B e B R AR B I 25 S )
ARSI AMG S g g iy . R TE T4 A Rt #2 Hw A B 58— AMECE L 7
BAGSERT REPIIRE G=0)BF , RGARXT & 1k B TR 5 B,
it BB — L A AR S BN RE LR AR T BOX SR AE S i R =
AN D5 .

(1) R 5 A 5 B SR R S e 2R 48 TR 1 R A 17

(2) IR AMG S B — @ R, BB F kX B, DU 550 5 i RS 56
(3) REBEHCAERE 2R 48 TARFE B AR B0 R B4 A S S5 b R Y S 0640 A M 5
g5 TR L v R T SR A S . RS S R GEED(F 5 (4 20
5 KR E S R E RS S

DR R R

B BR {5 % (Step Signal) Fs i A BB 928 16, 0Bl 3-2-1Ca) iR . B R EC#E R A
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A H
(A, t =0
r(t) = (3-2-1
10, t <0

K A N —HE8. M A=1 WP BEA G 8k 10 . BYERIGES (o) By 5 i A8
i hy
clrin] =4 (3-2-2)

B BR A5 5 e VRN 2R G0 sh 25k RE B Ry 4% 22 1) — Fp L RUAME T . A SEBris o e &
KB SEIR A5 5 S B RS 5. B 0] LAFR IR 5 4 10 28 SR 40 L v VR A0 9% SR 2 L 18 45 i e
TUfT 1 588 5 EE?IS/I\&F 4 50 e LA AR 9 I AR 38 R A S A SR N T
HAH1 2R 50 PR 56 1) 1 5% A

2) ®EES

RHEAF 5 (Ramp Signal) J& 4 i Z2 8 I i Bl B 9] £ R M 18 K09 45 5 i &l 3-2-1(b) Jir
Ne BB REBN

(Az, t =0
r(t) = (3-2-3)
0, t <0
1
K, A —HH8. 5 A=1 BF RN REE S . BES (O R hE S i A8 ok
Llr)] = é (3-2-4)

B AR 0T AE RS B IRAE 5 R A B SRR Rl AR 5 . RS 5 A 28 fL 22 1L By
BRAG 5 P — A~ S5 e LA I 2 G G o) Xof o BsF 8] 25 £ 1) £ 5 o 17 9 B 7 . KR
I F) A0 3 8 9 4 0 A0 R HE L R B R g0 K R L E AR S SR T LR RS S

3 MEEEFS

s BE (b4 28O 15 5 (Parabolic Signal) 0] DL &2 B % b A0 40 470 2% oA B0, o o5 2 Bl
] DL 5 o ol B R T B L R 3-2-1 (o) iR . B IIEER BN

—Az , =0
r(t) = (3-2-5)
10, 1< 0
K AR —HE Y A=1 BFN AR EFES . I EES (0O MH0E R 28
o] =4 (3-2-6)

I BE A5 5 ] LB VR SRR S B A B R I A5 5. I B {5 5 i A L 22
AR P— A~ 25 G, A8 S PRz FH P AR D & B B0 AR Ak i i B £ 5 TR A T 5
O ke fES
Jik #1455 (Impulse Signal) AT DL AR — AN ¢ SE B R 48 1945 55, an &l 3-2-1(d) iR,
BB RSB
(és 0<<r<<e

r(t) = (3-2-7)

10, t<<0mt>¢
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AP AR — 8 e MKMW TERE. 2 e—>0 B ARV AL B Pk wh (5 5.2 6 (o), W
Kl 3-2-1Ce) fiw , [

(oo, t=20
o0 =1 (3-2-8)
0, t %~ 0
H
| o =1 (3-2-9)
AR ik A5 5 0 (o) B P P 28 e Ky
Lo ]= rau)eﬂ’dz — lim J Levdr = tim [i e }
0 e—=>0 JO0o € e>0 € S 0
SRS O Y S RTINS SUCICT ) e
—1513;1&7[1 (1 &5+ gpe’s ”_1 (3-2-10)

S (o) B 5 R 1 ik o A5 5 52 bR b B IO SR AR 0 AR B h R AR RAE BB L HEE
HRE—AREERRFTH, £ TRESCE . 2 e 28/ TP 460 52 59 il 18] 5 BT, 3 Fl 28 ik o
IERCR IR S D A CON R=aN 7 QUL NN ER=AN s s = TN SR 5L T QUL =R=

5 IE#%ES

1F 8% 1% % (Sinusoidal SignaD @1&l 3-2-1(D fn. TR EREA N
r(t) = Asinwt (3-2-11)
K, A IR 0 A,
(1) r(t) i
A At AP
0 = 0| = 0 =
(a) (b) (c)
(1) rit) il
T .
Lf ! 2n il
ol € 0 ol * @
(d) (e) ()
Kl 3-2-1 HLTE Af55

TE AR 5 P LASRAT 28 S8 A [R] 45 3 1) 1 5% o 50 A 10 R 285 ) 17 » R g 431 3 0 7 K% A5 S
SR A . (RS PR R S R G BL A B A 2 B B AR B A DERI ML AR 2 ) I
PR AT LA R IE 515 5

DAL 7 3 i A A 5 2 e I 1) 22 A KA R Sl 2 9 S B 0l P I T AT DA A A A T ) 4
B G LT R UR BR AR R R A TRk S R S R A A R R
FISLIG 28 7 5 SE IR o 503 R F R — o e B gy A A5 5 20 B R GE R 5 1 B T R 0 7
IEH AR O T i WY AMG T IE 0. R R A G 5 & — A 78 14 . I Rz 5 R
BrERAE = s W2R R GRS 5= — A R I e o A pR R U IORK e A S RO i s R
FA G0 B A i B N ) 28 7 7 1 P R K U R BRORE A S . — Bk U 1 R S A SR
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T WAL b R DUS RSP E 5 BT o 28 G0 M Iy PR AR B I BEoR . 3R 3-2-1
i T 5 Rl R R A S R IR IR AU R R kA
F3-2-1 BBHANES

& W B A s EER
B B R A 1(0) 1120 i
B AR £ £1=0 i
e 1, 1
AN A(E S > =0 =
LR ve QLR ER= 8(1) st=0 1
E#fE S Asinot Qw
S w

Reading Material

In practice, actual input signal to the control system is quite varied and unpredictable,
and/or too complex to analyse. When carrying out mathematical analysis of linear
systems, we can consider the input magnitude to be unity without any loss of generality.
In experimental investigation of practical systems, however, the magnitude of the input
test signal should be carefully selected (depends on the particular system being tested).
Otherwise one or more components of the system may be forced to operate outside their
linear range. The linear model will not be applicable then, and the output of the system

will differ significantly from that predicted by the transfer function analysis.
2. B i S

BRI AN R S5H S CC) Z B AL H#mEE GG A
C(s) = G(sHR(s) (3-2-12)
A MG TR B PR B 0O L BRI () =0 . 1
JR(S) =L[s(] =1
Cs) = G(s) (3-2-13)
L‘(Z) =L'[G)] =gl
FEFRE T S RGN AT 2 5 R o (O B REHH S SR8 R4
BB PR N, o R G Y B R e O A R R G AT 3 R G (o) I BT R AR e g (1)
[F) % 3 BRI E— A o SRS I R pR Bt R R G B B
X 3 (3-2-12) W n B 357 307 2 28 460 o 5 ) FH 7 385 o 30 A8 4 1) 46 AR B AT A5
() = g(0) % (1) = J;gmm—f)df - J;gu—f)mmf (3-2-14)

RS c(OFF TR N ¢ (O S AGS r(OBER,
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3. F &Y iE) IR R

A1 R G R T RS h AR R C G WU ZR 8 1Y B[R] i Ly ¢
c(t) = L'[Cs] (3-2-15)
R A8 375 7 107 sz AR 4 v i 58 4343 Ak v 0 A #1428 CCo) M B — S (o B 2 30 =0 A AR
HRXE LT e (o) v — A~ I (] e 3 350, BV SRS T ¢ (o 2 B C Co) Y i A A e JIr XF 7 7 B
[i] vy b7 P91 (s B A A B e PR A o S [R5 B X6 07 i s S an 3R 3-2-2 iR,

®3-2-2 MAFEHES

w® A @S
SRR A o ket
m SRR o by Ahot 4o+ bt e
— X EHW ot o ke sin(wt +¢)
m HER N o +iw & [k sin(wt +¢1) +hotsinCwr +¢2) + k" sinlowr + ¢, ]

LRGN AG T RG AZBREUE GG WEW R AT A
C(s)=G(s)R(s)

AU i AR T 7 7 4 A B R e A% 3o R A A R R AR S P T AR e Y
W s ZH BRI o 30 A A% 3 R BSOS T X L 48 B B A FR i R G A R Is S S B R AL
BUPR R 1% A% i eRBCEURUr r R BCS EUR Y . REM A MBS SAGS L. 0y
i F S R TCOC . AR BRI F SOOI s BB L (H B AT A 52 e % AR S A i v
JIT o5 B LA o PR 5 ) I i) o 7 K HE 200K

ZR G0 0 IsF ) g S5 H 5 3 B BIORE ASOGT IR (94 B T g 7 43 R R I CBD 54 =, S A
5 R XS RN D P T W) 8 ek R R RS

AR 5 H5 2 v 3 S0 8 8 1) 0 BRI AR A3 M B T DA St el R R G T R
Rtk R A Eﬁ@gﬂ(ﬂ"]”ﬁﬂv»%T%hﬁﬁ%/\ﬁ%“ﬂfbﬂ"]ﬁﬁ; ESWOR TN ER=2
FRG3 B4 W 87 5 5 2R 0 X i i A - T o, 0 AR5 BRA3E B R ) IR AR g . AT
W, s —A~ R G 0 EA A B SR e 7 P57 v o) 7 R B A7 AR 38 e 7 vy R GE — A gl AT
Iy BRI B BRSNS

Reading Material

Poles are the set of values of s that make the value of the transfer function infinity.
Zeros are the set of values of s that make the value of the transfer function zero. The
characteristics of poles and zeros of a transfer function can be described as the following.

(1) Poles are those values of s that make the transfer function infinity.

(2) The equation obtained by equating denominator of the transfer function to zero is
referred to as the characteristic equation.

(3) Poles are the roots of the characteristic equation.

(4) Zeros are those values of s that make the transfer function zero.
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(5) Zeros are the roots of the equation obtained by equating the numerator of the
transfer function to zero.

(6) Poles play much more important role than zeros in determining the system dynamics.
o F L PVASE = F3 )i

RGEAER AT BT H e s B s 18] 22 £ ) 2ok F2 0k Sy 2R 56 %) BF () e 1 o A ] —
2 ) 22 90 100 BF T e 7 6 F A 28 i 7 R AR 285 e 7 7 RS 43 2 A

D B

W% 25 0 7 ( Transient Response) MR Ay i I 4o 72 5l 2l 25 0 1 2 48 R e AE S AR 5
YERT » & 40 4 0 1 A 46 RS 3 fe R A g By ) B R T S B R 40 B M5 PR LB 48 D )
HoAh 5L R Ge i i = A AT RE S 2 1 I A = 281k, R4 R AL S EGE R ijJ
AR N ZEW A BEFRRZIEA . BR, — D DS bR fr a6l &4, &
TR O AT S D) 4 ) T U R G AR E 1Y . S A N B T HR A R R e MR AR uﬁl‘
AT DA At e 7 R E N BHLJE R B0 A B X S (F B B S Tk RE kA

2) FAA R R

Fa s i (Steady-State Response) XS JRiE R G A MM AGS/EH T . Y
W] T Ieo5 il Rk i E R =0. BRI RSk B A 8 W A n R 2
WRGEA XRBREMGFE . NS LuF, HARE#E T I KA 3 ARSS R HXTE
AR R T S B L R AE AR e R e M A A S A S — BOR R BLA 3h A a
TR BN ] R B T RS E B R S SRR TR AR . MAEX BRI Z 5 N R A T 1

Reading Material

The time response of a control system is usually divided into two parts: transient
response and steady-state response. If a time response is denoted by ¢ (z), then the
transient response and steady-state response may be denoted by ¢, (¢) and ¢ (¢). The
steady-state response is simply the fixed response when time reaches infinity, i.e. ,

¢ (1) =lime ()

P
Therefore, a sine wave is considered as steady-state response because its behavior is
fixed as time approaches infinity.
Transient response is defined as the part of the response that goes to zeros as time
becomes large. Therefore,c,(¢)has the property of
Ilimct (t)=0
The transient response of a control system is of importance, since it is a part of the
dynamic behavior of the system; and the difference between the response and the input or
the desired response, before the steady state is reached, must be closely watched. If the
steady-state response of the output does not agree with the steady state of the reference

exactly, the system is said to have a steady-state error.
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5. BidxMREiER SRS MERIER

TEVF 22 SEBR IGO0 H o 42 0 28 50 0 it 22 (0 PR RE 8 i i L s Sl i A9 08 XA B B3 6 16 1]
AL B BRAT 5 AE R IHRAT 5 R TSR AR ) (R B A R S P AR S PR BE . R o B B BR A 5 T
I LA By o T L BRAR 5 % 28 S8R 62 A5 ™ IR 1) TAE RS R REAE D BRAE SAE T
PEBETE b BE W L 2R I 4 RGAEHAWIE i A G 5T HAERETR br — Mt vl i 2 225K .

D) BEASYEREFE bR

R TR E 19 R GEAE S B BRAF 5 1F T 1 285 b 75 B B 1] 194 722 £h AR B0 00 36 A, B A 1 2
P HEFE 45 (Transient Performance Specifications) 3-2-2 5 H T i & G a0 B By BR i)
i 2 MRl R SCANTT B ASPEREFE A5 .

o))
~~~~~ ™~ iFiRE
o%j /T\ N 1 rezzir 41 005
] | — 1. 0.02
oy I | \_475777777%"7“7:*:/»~
( |
| | I
| | I
0.5F=-—4 | | '
[ I I
[ | |
(I | :
I | |
A S | | P
P

P 3-2-2 A ZR G800 L B BR i R Hh £k

(1) EFHEfE] ¢ (Rise Time) : 4§ 0 7 i 2o N ZE B 20 I 45 55— ok b T+ B0 R 388 i 7 22 1Y)
0] o A AT S i B 2 RS ESAELAY 10 20 L T BIASRAS A 1Y 90 Yo Jir 7 B2 (1) B[]

(2) WEAE IS TE] 2, (Peak Time) . $5 0 1 il 2 2 I 200 I 46 1) 1K 565 — 4> W AE (4 15 1]

(3) HHE 0% (Percentage Overshoot) . $5 Wi 1 [l 2k 1) i K W E 5 R 25 (B =2 22 Rl AH X6
Fa S Z Ly E 435, B

% ::5£5%§£;§§333><10096 (3-2-16)

A 72 G HE e L R AR Ak D) TR A . R R R B e OB A i B A LB A

(4) JATIF[E] £, (Setting Time) : 5 M i iy 2k A% it 20 FF 46 B35 H AR FRE RS £5 %
o, = 2 /0 0 1B P9 T 5 190 e S E5F ) o R S i) SRR O Aot Y Ao R S T

(5) RGIKE N FE I EEFE] £, P 17 fih 28 4% 5 UL

R SR AR AR T RS R N R R T RGN S A TERE . b, B TRREE] 2 0 AE
BFR] ¢, Y5 AE 28 G000 R 470 4e B B B sk i 5 9T B T ¢ 26 B G0k U Ak R R R S )L A
SRR ERET RGP R o0 BT R G sh A R TR B A R
71N S B e 7 SRR e O B R R . PR R G AR B R U L X S R R A B P
JE B R T 0 24RO T rh A R

Terms and Concepts

Test input signal: an input signal used as a standard test of a system’s ability to
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respond adequately.

Performance index: a quantitative measure of the performance of a system.

Overshoot: the amount by which the system output response processed beyond the
desired response.

Peak time: the time for a system to respond to a step input and rise to a peak
response.

Rise time: the time for a system to respond to a step input and attain a response equal
to a percentage of the magnitude of the input.

Setting time: the time required for the system output to settle within a certain

percentage of the input amplitude.

2) RAMRETRIr
2w N A B F IR TR R, REHATRE TR, AR 2 (Steady-State Error) J&
RAGREEREN —FPEREFE bR, Hoe Sl

ey = 11@[}’0) —c(t)] = liri}e(t) (3-2-17)
AR Z BT RGEREE AP THRGE 0 —Fh B &, S R 40 8 00 sk B B e AT

A
3.3 —KMREHBESH

=B o 75 R IR A R R — B RS . —Br ARG TR N —
e ) AR A S B B R e (A RC 2% AL AL L 23 0 AR e L YR THT 4 o) R 48 55 A T ] — B &R
GERAMIA . AL R LR HRAE L Al ] — B 22 58 B9 R AR R ST LR AE

Terms and Concepts

The order of a system is defined as the degree of its characteristic polynomial. A first-

order system is represented by a first-order differential equation.
3.3.1 —MEZAGHNHFERBMNEHE
W 3-3-1 s RC UEPE LB — B R G0 H G I i

RC %ﬂ(z) — (D (3-3-1)
3% H B B W) R S BB — Y RS IAL 1 RN .
C 1 N
G = &2 = L (3-3-2)

K T=RC HI L& ERF RS EEmEEEEsy, “I“m
W T G0l P R T T N 5 2R S b

— Wi R G A e [ e =R A A an 1 3-3-2(a) FTE 3-3-2(b) 3-3-1 RC J& kg%
B
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R(s) E(s) A C(s) _ R(s) I )

" = =l T

(a) HLi R ot ) (b) — It F e A L 13
K 3-3-2 —Br RGEamKE

3.3.2 —[r £ % BY 5 AL By BR i) Rz

BT B R BRI R 3 AR S R () = 1/ s H A L o 40 AR 4 Xy

C() = GHR() = —+ L 1 T (3-3-3)

Ts+1 s s Ts +1
B CCs) 030 7 37 336 78 f, 75

() =Cut+Ci=1—ecT =0 (3-3-4)
i (3-3-H T IF W .
(D) % B BRI E R 5 AR AR R 1,
(2) CFRARRAE A B AR B AG S RIE e CORRNE Ao,
(3) %M L 2R B — AT ZLRRAE & 2 =T B, e (O MEUE S T 0. 632, BIMA R ¢ () ik

T H AR 63.2%.

(4) e 7 pHY 2 1sF ) 3 50 T 70 28 5 11 i) o e R
T2 BT — I B G2 A SR B BR A S I R R R

1. BAFEE t, an

B 3-3-3h—Kr ARG ppim ik, 4 =T !
R 48 Fom i il ok N 0 T B R e B Y 63,2005 Y
t=2T W}, 48 Homa 7 ih 28 - 7+ 205 2 (E A9 86. 5% 4
t=3T.AT.5T W, il k5 % L F 28 & H A 95% .

|
98. 20041 99.3%0 . H—Mi 1. =GB~DT, SR s
w8 =
=] =]
2. RXEEEe% ;|
0 r 2r 3r f

— 9 28 G 14 A7 [ SR T 7 Sy A T 30 e 1, B R
TR I .0 % =0,

3. BEIRE e

 3-3-3  —Br RGP B BR
i 17 1 2k

T (o MZAE N 1, i 2 o e B R A I R iR 22 g
3.3.3 —Mr & St BY B AL Bk o i) &2

B A5 S B L AR O 1L I LR SRR i
1

C(s) = (I(S)R(\) - ﬁ (3-3-5)

A i S AR e
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1 -
c(t) = Te T t =0 (3-3-6) Vet

— i ARG 14 5L K s L Ay — BRI T R Y 4 R £k
el 3-3-4 Fron . BARLRK P N AE e =0 WA T 1/ T EY
BB BRI B AE 0= 0 I AR A R AR A o X 1 B ERLL K i "0
07 2 BN i R o V7 ) S . T B A I BB e 7 A S A7 K o §
Wi 1o R AR o X AN SR E— A U B T B Y BR AR S A Dy i
UER PN RN TR -8 d R I v A

(@] r 2r 3T 4r 5T

K 3-3-4  — M REEARY kol

3.3.4 —Wr RS0 B AL R M Kz W 17 110 2%
BRSO =t PE AR A R(H=1/s", FTLA R G 4 R
CH =G Rp==L 1L _1 T, T (3-3-7)

Ts+1 s s Ts +1
L ir H iz AR 46y
() =Co+Co=G—T)+TeT =0 (3-3-8)
K RadgiE Co=r— T, R — N5 RN RS R B RIS T 0 R R
B A Co="Te THAREMHEEMEE.

%
c(n '

- Co=TeT (3-3-9)

ik L R L 5 2 96 00 A 9 A5 852 2

r e = }i»r{l)[r(t) — ()]
T = }L@T(l—e’%)= T (3-3-10)
% ML 5 A U 7 ) OE S T+ 925K — B R 5 B
o 7 T T T B BT /N U E R B 2
D N TV RS DN EN AR R Y e ST
— {37 40 T 7 2 7 B R O B RO . R 3-3-5 S — B

7G5 10 B R T
3.3.5 —Br & Gt 1Y B8 L 0 33 ) A

B T A S r(t):%tz R R AR o R()=1/s" T L R GE M i th o

1 1_ 1 T1T,T7°0 T

C(s) = G(sH)R(s) = 511 g 57+ S Ts 71 (3-3-11)
H e o 17 2 A
() = Coo +C, = %tz T ATl —et) =0 (3-3-12)
A h

e(t) =r(t) —c(t) =Tt —T(1—e T) (3-3-13)
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BT L — B 25 G2 170 i o 3 ) 7 e iR 22
ew = lim[r(0) — @] = lim[ Tt — T* (1 —eT)] = o0 (3-3-14)

XL RS X T — B RGOV, AS BE S B0 XTI B i A S a0 R,

B — By R GEXT 1R A5 S S s ) AT LA & B i e i R B SR e 7 ARk 3 R R 22 8]
FAERIFERI X N R R . X R, R G X R AMG 5 55000 B, 45 T X5 A G 5 I 59
B8 2 R X R AAE SR 00m N ST REXIHZEAME 5N R, X%
PEW RGN — N EERFME. EAMUEHT-ME&NEEY 2% . WEATEMEME R R
4. R, 78 5 T 28T o8 2 ST &R G0 BT [ SR 0 N

(6 3-3-11 CHAZEWEWE 3-3-6 i, H, G =4 2139+1,ﬁni Ko, Kn ¥

AR 2 PN FORAY 0.1 4% BB ZE R Ko Ko

R(s) = > C(s)

K 3-3-6 REL5HE

R, KB E, EHHHR RS 1 =0.1X0.2=0.02, HIHH#25HR 10,

10
N G 0.2s 11
()= Ko 7 =05 K“1+ 10K+
0.2s+1
B 10K, 10K, /(1 + 10K,
0.2s 11+ 10Kn 0.2
T+ 10K, !
_ 0.2 _
JT_H—lOKH 0. 02 K.u=0.9
< 10K BRALIRE o 10
_ 10K, o=
1K 1T10K, 0
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KNG MIZ RGN B 25, BN RLC M4 HLCF-F 2 88 R & b 5h R 55 .

Terms and Concepts

The second-order system is described by second-order differential equations. Second-
order systems are important because their behavior is very different from first-order
systems and may exhibit feature such as oscillatory response, or overshoot. Moreover,

their analysis generally is helpful to form basis for the understanding of analysis and design
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techniques.
S RLC M2 ang 2 s s, s g ik
Lo LD 4 pede® 4y — (3-4-1)
dr dz
1 328 PR AR
Cs) 1 1/LC

G(s) (3-4-2)

T R(») ICsP+RCs+1 s+ (R/L)s+1/LC
& @i =1/LC M wn=1/LCHR o T BELIE 45 35 4502 5 11 4R A0 22 L % F 1 57 28 S 0 1 4 00 2
A 28wn=R/L, M| 5=%/%%%7:M%\%E‘JISH}E H (Damping Ratio) 8¢ AH Xt FHJE & 80, = W
M. i EEAETE N

65 = RS ~ T T (3-4-3
AR B-4-) 2 N E 15 5] B R G0 FRAE T R
5"+ 26was +wn = 0 (3-4-4)
HAEIEAR N
1 =—Ewn Fawn VE—T (3-4-5)

HI BT, I REM SRR T £ Mo, XA SH, Hd  RAERLE b & i
L & 32 T A8 it T LA S B0l — o S A 0 DA A AR I 2 i 7 R AT AR R B 25 5

Terms and Concepts

Critical damping: The case where damping is on the boundary between underdamping
and overdamping.
Damp ratio; A measure of damping. A dimensionless number for the second-order

characteristic equation.

3.4.1 B R Gt HY 5 (L B B N
1. LA fE (& =0,Underdamped)

Y R=0,00 =0 i, RGEHA — X ILHRAR 510 = T jon » XN )AL BT BR e 1y
c(t) = 1— coswnt (3-4-6)
K (3-4-6) RUIRGAETCRHJE I, 0 137 S — > 4 1E 5245 5 H oo A g il i) v
TRGIMR IRGIEN w..
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S10 =— Ewn T jwn V1 —EF =— Ew, & jwd (3-4-7)

K s wa = w1 —&° BRI A B Ik 32 W3 (A BILE BRI .
XF T LA B BRI G RCs) =1/ 5, ) 38 G it 1) 038z 07 78 46y
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sCs+ Ewn — jwd) (s + Ewn + jwa)
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M R>R.H 1 B, R HA — XA H S5 09 7 S2AR L B
S1p =— Ewn T wn VE—1 (3-4-13)
St T 247 B BB AAS 5 R(Gs) =1/, W 28 55 Kyt 0% 3 o7 27 2% 46 hy
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XF 2 (8- 14) IR 5 437 37 2 75 46t A5 31 8 07 £ B0 B SR 1 2

e st e*.\z t

2@( S $2
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c(t)= lfeif‘"nt<COSwdt+ < - Sina)dt)
1—¢°
1 *&unz . e
= I*We sin(wat +8) ¢t =0 (3-4-16)
o1 3 17 4 ¥ 5 S - _ V1—e? N
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arcsinmo B G-4-160) 15, W A2 d £ Flow. X MFIESEIVE.
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ke s 20, JIr A
t = n— B _ m—arccosé
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Reading Material

Under certain circumstances, a higher order transfer function maybe approximated to
a lower order transfer function. This approximation is based on the concept of dominant
poles. We will use numerical examples to illustrate this concept.

Firstly,by mapping the poles and zeros of the system transfer function in the complex
s-plane, we can draw useful conclusions about the transient behavior of a dynamic system.
Each negative real pole of the transfer function will contribute an exponentially decaying
transient term. If any positive real pole is present, it gives rise to an exponentially
increasing term thereby rendering the system unstable. Complex poles, if present, always
occur in conjugate pairs. Each complex pole pair gives rise to an exponentially decaying
sinusoidal waveform if the real part of the poles is negative. An exponentially increasing
sinusoidal waveform would result if the real part of the complex pole pair is positive
(unstable response). Whether a particular high order transfer function can be
approximated or not by a lower order transfer function depends on the pole-zero
distribution in the s-plane.

If a single negative real pole is distinctly closer to the imaginary axis, and all other
poles and zeros are at least six times further away into the negative half of the s-plane,
then the system can be approximated by a first order transfer function having the above

nearest pole as its pole. If instead of a real pole, a pair of complex poles are distinctly near
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the imaginary axis, then the system can be approximated by a second order transfer
function(complex time lag) having the above two complex poles as its poles. If a pole of a
transfer function is very near a zero of the same transfer function, then they cancel one

another. They can be disregarded in analysing the transient response.

3.6 EHEREGHBREEDH

TE4% 1) 22 G 9 50 e F 5 o d3 B 2090 ) AU A 8 AR PR R AL B R JRIE R L RE 8 IE
BATHE EARE . W RIS PRIB AT B 2 32 A S A — S8 K ZR IS . 4] 6 4K
FIRE VR A B 3 R GE SR AL A RS2 1 09 20 45 6 2 o 42 o B 2 D o ) SF- Al T AR
ARSI RS ) B4R T A HE . DRI S AN AR B R G JCE IR AR . dnfif 23 R GE A AR
SE P B DR IE 2R G AR R I - AR T A S P BE R AT IS 22—

Reading Material

When the analysis and design of control systems are considered, stability is of utmost
importance, From a practical point of view, an unstable system is of little value. In
practical operation, almost all control systems are subject to extraneous or inherent
disturbances, such as fluctuation of load or power source, variation of system parameters
or circumstance.

Many physical systems are inherently open loop unstable. Introducing feedback is
useful to stabilize the unstable plant and then adjust the transient performance with an
appropriate controller. For open-loop stable plants, feedback is still used to improve the
system performance.

(1) When considering the design and analysis of feedback control system, stability is
of utmost importance.

(2) A stable system is defined as a system with a bounded(limited) system response.

Or: a stable system is a dynamic system with a bounded response and to a bounded
input(Bounded Input Bounded Output, BIBO).

(3) The concept of stability can be illustrated by considering a right circular cone

placed on a plane horizontal surface,see Fig. 3-6-1.

Absolute stable Netrual Unstable

Fig. 3-6-1 The concept of stability
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(4) The location in the s-plane of the poles of a system indicates the resulting transient

response.
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MIFRIZ R GE 2 E 1
Terms and Concepts

In a mathematical manner, the definition of stability may be stated: if the zero-input
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of the linear time-invariant system, subject to nonzero initial condition, approaches zeros
as time approaches infinity,i. e. ,
}ilf{}c‘(t) =0
then the system is said to be stable; otherwise the system is unstable.
B R G0 A% 3 eR B

Dus™ 4 b1 5" s+ Dis+ bo
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Terms and Concepts

A necessary and sufficient condition for a feedback system to be stale is that all the
poles of the system transfer function have negative real parts.

The closed-loop poles close to imaginary axis dominate those father away, and in
many cases the response may be approximated by the response of the closed-loop poles closest

to the imaginary axis. Fig. 3-6-3 is the good region of the close-loop poles in s-plane.

3.6.2 RHFREFHE
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Fig. 3-6-3 The good region of the close-loop poles in s-plane
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Terms and Concepts

Routh-Hurwitz Stability Criterion will enable us to find out whether a feedback
control system is stable or not from its characteristic function, 1+ G(s) H(s), without
having to actually factories the characteristic function. Routh-Hurwitz method is based on
ordering the coefficients of the characteristic equation into an array as follows.

When we construct Routh’s Array,four distinct cases arise.

Case 1: No elements of the first column is zero.

Case 2: Zero in the 1st column while some other elements of the row containing the
Zero are nonzero.

Case 3: Zero in the 1st column and other elements of the row containing the zero are
also zero.

Case 4: Characteristic equation has repeated roots on the jw axis.
1. SHREHE

95 Wike a2 FI % (Routh’s Stability Criterion) F F4FAE Jy 2 19 4 30 2 Bt 450 80z B 15
Hh A T AR AR LA B0 S A SR L LA SR ) 01 3R G 02 5 A E AR AR
WM R G R IE T B
a,s" +a, 5" e daista =0 (3-6-5)
FRGRRE W b F AR e HARE J7 R A & TR B I B @, >0 =0,1.2, ) s K ERA
BRI, AR BRI R GRS E PR AT SR A RE R E TR R B G T
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Terms and Concepts

Routh-Hurwitz criterion: A criterion for determining the stability of a system by
examining the characteristic equation of the transfer function. The criterion states that the
number of roots of the characteristic equation with positive real parts is equal to the

number of change of sign of the coefficients in the first column of the Routh array.
2. WRIRYEZLFIHE
M IR 4E 25 195 (Hurwitz Criterion) W2 iR 48 R Ak 77 B2 19 RECR AN R e E . &
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LRGN RE T
a“s" +a,, 15”71 —|—"'+a1s+ao =0
PURRAE 75 % 20 1 2% 200 22 B0 1 an 4791 =X

An—1 Ay 0 0 0 0
An—3 An—2 QA1 Ay 0 0
Ay = |Qu—s  An—4  Au—3 dn—2 QAn—1 a, (3-6-6)
An—7 An—6 An—s5 An—4 An—s3 An—2
(2

/R YE 2% FIHE TR 1 REFE MR E R EidAT o X e A B Y 50 A G=1,
2,-*-,n*1)i-’>]j(ﬂ:7§:,ﬁ|]
A = a,—1 >0

Ap—1 3%

Ar = >0
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A, >0
(%] 3-6-61 T M1 R GERYHRAE J5 F
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. R85
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0 0 0 2
10 3
Ay = >O
1 5
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FH B 7R 2 2% F 4 P Z R BEATRE .
Reading Material

Once the block diagrams of control systems are developed, the next step is to carry
out analysis. There are two types of analysis: quantitative and qualitative. In quantitative
analysis, we are interested in the exact response of control systems due to a specific
excitation. In qualitative analysis, we are interested in general properties of control
systems. We discuss first the former and then the latter.

Control systems are inherently time-domain systems, so the introduced specifications

are natural and have simple physical interpretation. For example, in pointing a telescope at
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a star, the steady-state performance(accuracy)is the main concern; the specifications on
the rise time, overshoot, and settling time are not critical. However, in aiming missiles at
an aircraft, both accuracy and speed of response are important. In the design of an
aircraft, the specification is often given as shown in Fig. 3-6-5. It is required that the step
response of the system be confined to the region shown. This region is obtained by a
compromise between the comfort or physical limitations of the pilot and the
maneuverability of the aircraft. In the design of an elevator, any appreciable overshoot is

undesirable. Different applications have different specifications.

LA,

o

Fig. 3-6-5 Allowable step response

A system is said to be sluggish if its rise time and settling time are large. If a system
is designed for a fast response, or to have a small rise time and a small settling time, then
the system may exhibit a large overshoot, as can been see from Fig. 3-6-5. Thus, the
requirements on the rise time and overshoot are often conflicting and must be reached by
compromise.

The steady-state response of G,(s)depends only on a number of coefficients of G,(s),
thus the steady-state performance can easily be incorporated into the design. The transient
response of G,(s) depends on both its poles and zeros. Except for some special cases, no
simple relationship exists between the specifications and pole-zero locations. Therefore,
designing a control system to meet transient specifications is not as simple as designing one

to meet steady-state specifications.

3.7 FHRARZRTRENIMRITE

F45 ) 22 ¢ I 5] W) 37 18 45 0 T LA I 2 ) B FAS S R N R . R GRS AR A i R R G
R B2 A 45 5 ) V0 R s R I B A T B RE T TR A IR ZE R A . AR A R 21 T i
R R 28 Y ) i G5 A ) 2R G I R AR AR BE B — b R A o B S R . RS
RZEWPR VA Z 5 A2 RGER 2 BT AR AR 3R 22 = — T B A PERE R A7 . & 5o d F
AN R T TS A b A% P A% Sl AL A 8] BT B8 45 55 TR 3 A O » > B L i 2 oy A ek
WRE MRS RZ N Z . S EAR TABITHEEEZ N, AREZEIHEM TREA S
a1 i AR 5 BT 30 S EO M A5 I 3R B 5 R R 25 iR 22
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Terms and Concepts

Disturbance signal: An unwanted input signal that affects the system’s output signal.

Error signal: The difference between the desired output and the actual output.

Steady-state error: The error when the time period is large and the transient response
has decayed, leaving the continuous response.

System sensitivity: The ratio of the change in the system transfer function to the
change of a process transfer function(or parameter)for a small incremental change.

As a function of the time, the error signal consists of two parts: The transient
component and the steady-state component. Since the steady-state error is meaningful only
for the stable systems, the transient component must approach zero as time approaches
infinite. Hence, the steady-state error of a feedback control system is defined as the error

when time approaches infinity.

3.7.1 BTBRENENX

A G HIFR AR % (Steady-State Error) SRR E 5 AF T (BIX FAE RGO A A5
220 B8 A R IR 18] I 2 e 7 L 4 el ) R 08 /N I A e 7 ) 309 BRI S BRE =2 (] A iR
25 Lh e  RF RS RE . H

e = lin}e(z‘) (3-7-1)
R RZE R
e(t) = ya(t) — y (1) (3-7-2)

Horpr, y (o) Fom i th SEBRAE » yva (0 Fom i 3 0T ERMH .
W H () =1, % &8 0 B2 E i A oo W 52 22 B ok
e(t) = () — y() (3-7-3)
M HGFAL B 2O y(O A BEEA AR B &N, KA GEN HZ(3-7-3) . AlE L
HiR2E N

e(t) = x(t) —b(r) (3-7-4)
Y RN B
E(s) = X(s) —B(s) = X(s5) —H()Y(s) = X(s) — H()G(HE(s)  (3-7-5)
g
EG) = — X&) (3-7-6)

1+ H(s)G(s)
AR 38 37 3 P A A e 1 24 {H B L (Final-Value Theorem) , ] LIfE 2] fa iR 2 1 F A K

L e ey — 1 sX ()
es = lime(r) = limsE(s) = lim 3= ~S= =

XG-7-DEW, RERSIREZRH T AGS XL L XIF L mE H(s)Gs) 45
K, ST NEENBRARG . NAGES XOBR I ER, RSB ARSI
T I IAL B RE H(OGCO) TR M R G451 . I, 42 B ) R 48 BR ER A W) i AR 5
[ RE 1 AT R G IR RAT B E

(3-7-7)
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(6] 3-7-11 55 171 [ 45t R 40 1 I 3R A% 38 R B
Gls)— K(0.5s+1)
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3.7.2 RZABERIFTIRE
A 250 % 1 pR T (Open-Loop Transfer Function)

K][] (s +D
H()HG(s) = —1———— u=m (3-7-8)
s (Ts+ D
i=1

Hp K RS0 IT 31 25 (Open-Loop Gain); 7; Al T, SN B}[E] % 40 (Time Constant); v iy
TEER A% 328 BRECHE s 1 T80 A8 B J5E b A A 00, B0 2R 1% 3df R 0 e e 66 1 B 4 3R 15 A 4
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KRG EWMTE,
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Il s +D
H ()G () = 2 (3-7-9)
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i=1
M >0 0. A Ho ()G (s)—1, M= (3-7-8)iE L N

- U

H)G = BH (06,0 = K (3-7-10)
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xw1+JHQGU)71+mwﬂwGQ):1+Kp
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K, — { (3-7-13)
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AT 5 3 4 80 R 5 0 R A 12 2
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A e =0
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0, v=20
K, =<K, v=1 (3-7-16)
100, v =72
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{OO, v=20
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NG5 B LR —E A AT LR R E — W, IR T RSN
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SR AR R A TR B IR 22 N
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(3-7-26)

Reading Material

What is meant by stability of a dynamic system? A stable system is a dynamic system
with a bounded response to a bounded input. How do we find out whether a system is
stable or not? The stability of a linear dynamic system is directly related to the location of
the poles of system transfer function in the complex s-plane. For stability, all poles of
system transfer function must lie in the left half of the complex s-plane.

As we have seen in chapter 1, introduction of the negative feedback control loop to
dynamic systems brings about several benefits. Provision of feedback control on the other
hand might result in an unstable system under some circumstances. An unstable feedback
control system is generally of no practical value. The issue of ensuring the stability of a

feedback control system is therefore central to control system design.
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The stability of a dynamic system is directly related to the location of the poles of the
system transfer function in the s-plane. By careful choice of the closed-loop parameters,
the designer is required to ensure that the resulting transfer function of the closed loop
system has the poles in the desired locations of the s-plane. Provision of feedback control
to a dynamic system may sometimes (depending on the characteristics of the plant being
controlled) result in a system transfer function having one or more of its poles with positive
real part. Such a system will be useless and unsafe. Therefore our top priority when

designing control systems is to make sure that we don’t end up with an unstable system.
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Reading Material

1. SISO Transfer Function Models

A continuous-time SISO(Single-Input/Single-Output) transfer function

n(s)
d(s)

is characterized by its numerator and denominator, both polynomials of the Laplace

G(s)=

variable s.
There are two ways to specify SISO transfer functions.
1) Using the tf command
To specify a SISO transfer function model G(s) =n(s)/d(s)using the tf command, type

h = tf(num,den)

where num and den are row vectors listing the coefficients of the polynomials n(s) and
d(s), respectively, when these polynomials are ordered in descending powers of s. The
resulting variable h is a TF object containing the numerator and denominator data.

For example, you can create the transfer function h(s) =s/(s*4+2s+10) by typing
h = t£([10],[1210])

Note the customized display used for TF objects.
2) As rational expressions in the Laplace variable s
You can also specify transfer functions as rational expressions in the Laplace variable s by

(1) Defining the variable s as a special TF model
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s = tf('s'");

(2) Entering your transfer function as a rational expression in s

For example, once s is defined with tf as in (1)
H= s/(s"2 + 2%xs +10);

Produces the same transfer function as

h = tf([10],[1210]);

Note: You need only define the variable s as a TF model once. All of the subsequent
models you create using rational expressions of s are specified as TF objects, unless you

convert the variable s to zpk.
2. MIMO Transfer Function Models

MIMO ( Multiple-Input/Multiple-Output ) transfer functions are two-dimensional
arrays of elementary SISO transfer functions. There are several ways to specify MIMO
transfer function models, including.

[ ] Concatenation of SISO transfer function models

[] Using tf with cell array arguments

Consider the rational transfer matrix

s—1
s+1
_s*2
s*+4s+5

You can specify H(s) by concatenation of its SISO entries. For instance,

H(s)=

h1l = tf([1 -1],[11]);
h21 = tf([12],[145]);

or, equivalently,

s = tf('s")
hil =(s-1)/(s+1);
h21 =(s+2)/(s"2+4%s+5);
then., it can be concatenated to form H(s).

H = [hll; h21]

This syntax mimics standard matrix concatenation and tends to be easier and more
readable for MIMO systems with many inputs and/or outputs. Alternatively, to define
MIMO transfer functions using tf, you need two cell arrays(say, N and D) to represent
the sets of numerator and denominator polynomials, respectively.

For example, for the rational transfer matrix H (s), the two cell arrays N and D

should contain the row-vector representations of the polynomial entries of



B ahiz § [R3E (RWEHHM) (F28R)

s—1 s+1
N(s):[ } D(.\‘):[ ) }
s+2 s°+4s+5

You can specify this MIMO transfer matrix H(s) by typing

N = {[11];[12]}; % cell array for N(s)
D= {[11];[145]}; % cell array for D(s)
H = tf(N,D)

Notice that both N and D have the same dimensions as H. For a general MIMO
transfer matrix H(s), the cell array entries N{7,j} and D{i,;j} should be row-vector
representations of the numerator and denominator of H; (s), the ijth entry of the transfer

matrix H(s).
3. Pure Gains

You can use tf with only one argument to specify simple gains or gain matrices as TF
objects. For example,
G = tf([10;21D]

produces the gain matrix

while

creates an empty transfer function.
4. Zero-Pole-Gain Models

This section explains how to specify continuous-time SISO and MIMO zero-pole-gain
models. The specification for discrete-time zero-pole-gain models is a simple extension of
the continuous-time case.

1) SISO Zero-Pole-Gain Models

Continuous-time SISO zero-pole-gain models are of the form

() (2 (s—2) e (5—2,)
0 — — >
GO =R A GG ps—py "=

where % is a real-or complex-valued scalar(the gain), and z,.25,*, 2, and pi. p2, s P,

are the real or complex conjugate pairs of zeros and poles of the transfer function H (s).
This model is closely related to the transfer function representation: the zeros are simply
the numerator roots, and the poles, the denominator roots.

There are two ways to specify SISO zero-pole-gain models:

[l Using the zpk command

[] As rational expressions in the Laplace variable s

The syntax to specify ZPK models directly using zpk is

h = zpk(z,p, k)
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where z and p are the vectors of zeros and poles, and % is the gain. This produces a ZPK

object h that encapsulates the 2, p, and k& data. For example, typing
h = zpk(0, [1-1i 1+1i 2], 2)
produces

Zero/pole/gain:

(s—2)(s*2+2s+2)

You can also specify zero-pole-gain models as rational expressions in the laplace

variable s by
(1) Defining the variable s as a ZPK model.

s = zpk('s'")

(2) Entering the transfer function as a rational expression in s.

For example, once s is defined with ZPK,
H=2x%s/((s-2) % (s"2+2%s+2))

returns the same ZPK model as
h = 2pk([0], [2 1-1i 1+1i], 2);

Note: You need only define the ZPK wvariable s once. All subsequent rational
expressions of s will be ZPK models, unless you convert the variable s to TF.

2) MIMO Zero-Pole-Gain Models

Just as with TF models, you can also specify a MIMO ZPK model by concatenation of
its SISO entries.

You can also use the command zpk to specify MIMO ZPK models. The syntax to
create a p-by-m MIMO zero-pole-gain model using zpk is

H = zpk(Z,P,K)

where
[] Zis the p-by-m cell array of zeros(Z{i,j}=zeros of H; (s))
[] P is the p-by-m cell array of poles(P{i,j}=poles of H; (s))
[] K is the p-by-m matrix of gains(K{i,j}=gain of H; (s))
For example, typing

z={[1 5 [1-1 1+4i] [1};
Pp=4{0,[1 1);[1 2 3], [1};
K=1[1 3,2 0],

H = zpk(Z,P,K)

creates the two-input/two-output zero-pole-gain model
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—1 3(s+5)

s (s+1D°

2(s*—25+2)
G—DG—2)(s—3)

Notice that you use [ ] as a place-holder in Z(or P)when the corresponding entry of

H(s)=

0

H(s) has no zeros(or poles).
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Reading Material
SISO Example: the DC Motor

A simple model of a DC motor (Fig. 3-8-1) driving an inertial load shows the angular
rate of the load, w (), as the output and applied voltage, v., (), as the input. The
ultimate goal of this example is to control the angular rate by varying the applied voltage.

This picture shows a simple model of the DC motor.

i p

p— Kulr)

L Viscous
5 friction

Uppll) -
tiL'I'I'H('r)
o
20)]
Torque wl(l)
Angular

rate

Fig. 3-8-1 A simple model of the DC motor

1. A Simple Model of a DC Motor Driving an Inertial Load

In this model, the dynamics of the motor itself are idealized, for instance, the
magnetic field is assumed to be constant. The resistance of the circuit is denoted by R and
the self-inductance of the armature by L. If you are unfamiliar with the basics of DC motor
modeling, consult any basic text on physical modeling. The important thing here is that
with this simple model and basic laws of physics, it is possible to develop differential
equations that describe the behavior of this electromechanical system. In this example, the
relationships between electric potential and mechanical force are Faraday’s law of induction

and Ampere’s law for the force on a conductor moving through a magnetic field.
2. Mathematical Derivation

The torque r seen at the shaft of the motor is proportional to the current i induced by

the applied voltage
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() =Kni(1)
where K,,, the armature constant, is related to physical properties of the motor, such as
magnetic field strength, the number of turns of wire around the conductor coil, and so on.
The back(induced)electromotive force,vems» is a voltage proportional to the angular rate w
seen at the shaft
Vemt (1) = Ky (1)

where K;, the emf constant, also depends on certain physical properties of the motor.

The mechanical part of the motor equations is derived using Newton’s law, which
states that the inertial load J times the derivative of angular rate equals the sum of all the

torques about the motor shaft. The result is this equation
fl—‘;’ = >r = K@) + Kai()

where K w is a linear approximation for viscous friction.

Finally, the electrical part of the motor equations can be described by
W (D) — 0 (D) = L 4 Ri (1)
dr
or, solving for the applied voltage and substituting for the back emf
o () = L S Ri () + Kiaw(0)

This sequence of equations leads to a set of two differential equations that describe the

behavior of the motor, the first for the induced current

di _  R. K 1
i Lz(t) Lw(t)—l—Lvapp(I)
and the second for the resulting angular rate
do _ 1 L
U Jwa(z)+ Jsz(t)

3. State-Space Equations for the DC Motor

Given the two differential equations derived in the last section, you can now develop a
state-space representation of the DC motor as a dynamic system. The current i and the
angular rate w are the two states of the system. The applied voltage,v,,,(¢), is the input to
the system, and the angular velocity is the output.

R R,

— 1
] L L ] -
i[Z} -[Z } Ll|eo, (D
dilol” K, KLl ]
] ]

vy =1[0 1]- E)J—}— [0] ¢ v (D)

4. Constructing SISO Models

Once you have a set of differential equations that describe your plant, you can
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construct SISO models using simple commands in the Control System Toolbox.
The following sections discuss
[] Constructing a state-space model of the DC motor.
[] Converting between model representations.

[J Creating transfer function and zero/pole/gain models.
5. Constructing a State-Space Model of the DC Motor

Listed below are nominal values for the various parameters of a DC motor.

R= 2.0 % Ohms

L= 0.5 % Henrys

Km = 0.015 % torque constant
Kb = 0.015 % emf constant
Kf = 0.2 % Nms

J= 0.02 % kg.m"2/s"2

Given these values, you can construct the numerical state-space representation using

the ss function.

o Q w =
I
o
=

sys_dc = ss(A,B,C,D)

This is the output of the last command.

a =
x1 x2
x1 -4 -0.03
x2 0.75 - 10
b =
ul
x1 2
x2 0
c =
x1l %2
vyl 0 1
d =
ul
vyl 0

6. Converting Between Model Representations

Now that you have a state-space representation of the DC motor, you can convert to

other model representations, including transfer function (TF) and zero/pole/gain (ZPK)
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models.
(1) Transfer Function Representation. You can use tf to convert from the state-space
representation to the transfer function. For example, use this code to convert to the

transfer function representation of the DC motor.
sys_tf = tf(sys_dc)

Transfer function.

s"2 + 14 s + 40.02

(2) Zero/Pole/Gain Representation. Similarly, the zpk function converts from state-
space or transfer function representations to the zero/pole/gain format. Use this code to

convert from the state-space representation to the zero/pole/gain form for the DC motor.
sys_zpk = zpk(sys_dc)

Zero/pole/gain;

(s+4.004)(s+9.996)

Note: The state-space representation is best suited for numerical computations. For
highest accuracy, convert to state space prior to combining models and avoid the transfer
function and zero/pole/gain representations, except for model specification and inspection.

PL bS] T4 MATLAB TAERREE T . A sh4a il R A g #E . 3 B i A1) 5,
S B Sl A3 A L P LRI ROR .

(6] 3-8-11 T HNEZ: RGN 1L b R

C(s) _ 3s'+25°+55°+4s+6

R T R R

R

(D SRZ RGN Wi B 15 5

(2) 2 A AR B R G pe s 1
fi# .

% This program create a transfer function and then finds/displays its poles, zeros and gain
NOM=[3,2,5,4,6];
DEN=[1,3,4,2,7,2];
[z,p,k] = tf2zp(NUM, DEN)
pzmap(NUM, DEN) ;
title('Poles and zeros map');
You should get the following response.
z = 0.4019+1.19651
0.4019 - 1.19651
—0.7352+ 0.84551
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—0.7352—-0.84551
p =-1.7680+1.26731
—1.7680—-1.26731
0.4176 +1.11301
0.4176 - 1.11301
—0.2991
k=3

(5] 3-8-21 1] MATLAB Zr Hr RGE 0 8h S 454k, £ MATLAB tp 2 it 7 5K ok 22
RGBT BRI step, PLBAT AT 507 B PR Isim,

ALY 7 [ 2R 4 9 4 3 oK RCH

G(s):C(S)* wWn

R(s) 25 +2fw.st o

HA w. =6, 26 RYGEAE §=0.1,0. 2,00+, 1.0,2. 0 I ) BT B BRUF I

Consider the transfer function of a typical second-order system as follows.

: W PATI TR

% This program plots a curve of step response
wn==6;
kosi=[0.1,0.2,1.0,2.0];
figure(1l)
hold on
for kos = kosi
num = wn. " 2;
den=[1,2x kos % wn,wn."2];
step(num, den) ;
end;
title('Step Response');
hold off

F Bz AT 45 B 3-8-2 Fis .

Step Response

1.8 . : .

1.6} 5

1.4} .
2 1.2 A 1
2 [y s
g \V/
< 0.8} -

it 1 1 i L

4 5 6 7 8 9
Time/s

&l 3-8-2 ] 3-8-2 iz fT45 %
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Summary and Outcome Checklist

In this topic we have been concerned with the definition and usefulness of quantitative
measures of performance of feedback control systems. We learn that there is strong
correlation between the system transient response and the locations in the s-plane of the
poles of the closed-loop transfer function. For systems having second-order transfer
function, valuable relationships have been developed between the performance specifications and
the two characteristic parameters, damping ratio, &, and natural frequency, w,. Relying
on the notion of dominant poles, these relationships are considered applicable to those
higher order systems that have a dominant pair of complex poles.

While the introduction of the negative feedback control loop to dynamic systems
brings about several benefits, it might result in an unstable system under some
circumstances. Such an unstable system will be useless and unsafe. The issue of ensuring

the stability of the feedback control system is therefore central to control system design.
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The stability of a dynamic system is directly related to the location of the poles of the

system transfer function in the s-plane. By careful choice of the closed-loop parameters.,

the designer is required to ensure that the resulting transfer function of the closed loop

system has the poles in the desired locations of the s-plane.

The fundamental reasons for using feedback control, despite its additional cost and

complexity are:

(1) decrease in the sensitivity of the system to variations in the parameters of the

plant/process being controlled.

(2) ease of control and adjustment of the transient response of the system.

(3) reduction of the impact of disturbance and noise signals within the system.

(4) reduction of the steady-state error of the system.

Tick the box for each statement with which you agree.

O

O

I am able to determine the poles and zeros of a given transfer function and map
them in the complex s-plane.

I am able to determine, by the partial fraction method, the time response of a
given transfer function to standard test input signals such as the step, impulse,
ramp, and sinusoid.

I am able to distinguish between the transient, and steady state, responses of a
dynamic system.

I can explain what performance measures (or specifications) are, why they are
important to the design process, and what makes a particular measure a good
candidate to be a performance measure.

I can list the performance measures commonly used by control practitioners.

I can describe the correlation that exist between the transient response of a
system and the location of the system poles and zeros in the s-plane.

I can explain, with the help of an illustrative example, the notion of dominant
pole/poles of a transfer function.

I can express the transfer function of 1st, and 2nd order systems in their
respective standard form and identify the characteristic parameters.

I can write down the time response of 1st, and 2nd order systems(in terns of
their respective characteristic parameters) to standard test input signals such as
the step, impulse, ramp, and sinusoid.

By examining the transfer function of higher order systems(order > 3), I can
determine whether the transfer function can/cannot be approximated by a lower
order transfer function.

I can, if feasible, approximate a higher order transfer function by a lower order
transfer function.

I can predict the time response of a control system if its transfer function is

known.
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[ 1T can describe the quantitative relationships that exist between the various
performance measures and the characteristic parameters of systems having the
standard 2nd order transfer function.

[] T can explain why, when designing control systems, designers often attempt to
achieve a second order type transfer function for the control system.

[] I can explain the meaning of the term sensitivity.

[J T am able to determine the sensitivity of a feedback control systems to variations
in the parameters of the system.

[J Given the transfer function of a system, I am able to determine its poles and zeros
and map them in the complex s-plane.

[] Tam able to determine the transient response and the steady state error of a
feedback control system for standard input test signals.

[ T am able to estimate the effect of disturbances on the performance of a feedback

control system.

I can list the four main benefits of feedback control.

I can explain the concept of stability in the context of linear dynamic systems.

O Oo

I can state the relationship between stability and the s-plane location of the poles

of the system transfer function.

[] I am able to determine whether a system is stable or not by applying the Routh-
Hurwitz stability criterion.

[] T can explain the meaning of the term relative stability, and analyse the relative
stability of a dynamic system by applying Routh-Hurwitz stability criterion.

[] I am able to determine how the locations of poles of system transfer function in

the s-plane change as a parameter of the system is varied.
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